0002301188967999

&0

® EIFX%¥ 00—

2016 47 BT 55 3 [

A&

(1) b% azH\TRYE.

TARTRD L.

. firy=
= -?a +bt

~f(F)= -2-a
(i a%*~-2 ot
SE 4B g 4B 5 2

2Qo1tB 37

at2

() o (in) &Y (A, b

@

3la, bewEHLL, B f(z) =sin2r +acosr+bLd5, f(%):ﬁtﬁ“%é:%, RO

@) iy = £(2) LoRP(E, £(5)) sl pumin, mQ(F+2/3, 0)2iEsL %, o, boslE

(3) (2) TR/ a, bTEDOLND f(x)DHIB, z = %?@E%t%%@c:owf%ié. Dk X
0<z<2m DEEIZE

WT, f(x) DT R TOMMEZ R L.

v 7t
s T8 LA IS
siny tAces 7 b

5
2
YA R YTaTY

(2) f’(1)= 2c0582X ~ASinX

/

——

At2

L2 = fann)

L= gy (@-2@rs)=0 w AFF2

s (ab)= (=3, 205),(2,-5)
(|f} a= _217)25 P, Q% EJ-]H?] [C@j #gm":’??:f‘g@{ﬁ&ﬂﬁﬁfa’“}@

/5
)= (-3,203),(2,~-%F)

o~

3. f(x) = sin

f/(x;:‘ 2cosax=2sinX = -z(zsfnJ(-/)(s}n:(-t-/) iy ~

¢ FRKIB G (A= Foe), BRME o5 (1= 2x0rx)  |T0| |75 V|87 ]

7T

’ 7
) F(F)= zcosE~asing = [-4a  cx=F7 CRMEE 30 (Ab)= (2,7 F

# Degs it =12
2X t2co = % 1o

o |
b
0

w

7 N = N




